CHENNAI

S I U DY

VETERINARY ASSISTANT SURGEON IN TAMILNADU ANIMAL
HUSBANDRY SERVICE - 15-03-2023

1. district is not with high human development Index
a. Kanyakumari b. Tirunelveli c. Thoothukudi
d. Madurai e. Answer not known
Tl LI, &IHS wweld euem  Gwbum G @puiliged L ib
CuBaTeLm6V.
a. saefwm@Lor b. Hm6HeGaIeI C. HMHBIBGHI9
d. wgiemy e. alenL  Gafuiealsdensv

2. Which of the following are correctly paired?
1. GSDP - Government Special District Programme
2. GSVA- Gross State Value Added
3. RKVY- Rashtriya Krishi Vikas Yojana
4. PMKSY- Prime Minister Krishi Suraksha Yojana
a. 1 and 3 are correct b.1and 2 are correct c¢.2 and 3 ae correct
d. 3 and 4 are correct e. Answer not known
Leitau(heuetaummled o1&l FHlwms QUTHbHSHISBHI?
1. GSDP - opa Spiiy el LgF LD
2. GSVA - Qurss wmplev s dnl L OuUBSH6e0
3. RKVY -grmesfw dflad alsrerd Guimegent
4. PMKSY- ysw wpdfl dflad agbagr Guiregett
a.l wBmpib 3 Filwmeienel b. 1 wBmd 2 sFilwmereme
C.2 1oBmib 3 gMwmereney d.3 wBpd 4 Fhwmearene
e. allewL  Oxflwealedensv

3. The Second Five Year Plan was based on model.
a. Harrod - Domar model b. Mahalanobis model
c. Schumpeter model d. Nurkse model
e. Answer not known
BrewiLTougdl WMbSHTew(hSH HL L SHH6T DiQUiLienL orgl.
a. Gamym_-GLmoT Tl b. wameuBmTiierd omgi
c. &I LT g d. piréerd o

e. allewL  OFflwealedensv
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CHENNAI

4. According to 2011 Census, in India the lowest literacy rate was in the state

of

a. Jharkhand b. Bihar c. Arunachal Pradesh
d. Tamil Nadu e. Answer not known

2011 1&HeT  OpTemauilear SenisOsGUSILY, @bhHwuraled WHdH GHOBbHSD
sevalwipley al&lHLd LOTHIEVSHH60 B(HHSHH!.

a. T b. e C. QIHEMIMFeOLI LNTBHFID

d. s0pmrH e. el Gxfualsteney

5. The president of the council of scientific and industrial research is
a. Home minister b. Minister of Industry
c. Prime Minister d. Finance Minister
e. Answer not known
Sflaluled WBBID OHTPBHIHB DTTUIFF DLOUIGHHEIT HENEVEUT
a. 2_GIIHINB DIHFET b. Oamfeosiens SienDFST
c. ysip wphHM d. P8 omwsai
e. alewL  OFflwalsvensv

6. Select the correct answer, the sources of revenue of the government are:
1. Tax revenue
ii. Non tax revenue
iii. Surplus from public undertaking
a.ionly b. ii only c.iand ii
d. i,ii and iii e. Answer not known
gflwrer alewLulenerns BaHTbOHBEHDBND, DIFFTRISSHH 6 aHUTUIET DLEHTTRIS6NT
i. eufl eu@HeuTUl
ii. euflufledeor eu(HeUTU
iii. QUTEHISSHIMB HHBleuehiGeTer o Lifl
a.i @G b. ii o @B C.1oBmub ii
d.i, ii wBpd iii e. el Gxfwalsbeney

7. The chairman of NITI Aayog is
a. President of India b. Prime Minister of India
c. Finance Minister of India d. Vice President of India
e. Answer not known
bg Gunsdler (NITI Aayog) sHemeveu
a. OhIUWS GQUWITHS HENeVUT b. @bHw Lgsior
C. @hFHw BF Sim&FST d. @hbHws Hmand GQUITsd SHMEVaIT
e. alowL.  OFMwalsdensy

8. ‘Satyagraha in South Africa’” was published by Mahatma Gandhi in the
year
a. 1928 b. 1927 c. 1926 d. 1930 e. Answer not known
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10.

11.

12.

13.

CHENNAI

‘OpaemuflessTaled FHUTHIHID’ 6IGIDID [BHITMEY LSTHIOT SHMHEH 6IIGLTIDSI
Geueui’Lmir?

a. 1928 b. 1927 c. 1926 d. 1930 e. alenL  Gafuialsvensv
Which award did Gandhi return during the Non-Co-operation Movement?
a. Knighthood b. Raj Bahadur c. Kaiser -e- Hind

d. Hind Kesari e. Answer not known

RSHSHIOLWTML QussdHFHar  Curgd sMhHHM  abd UlLHmd  SHpul
SIeMSHTT?

a. mpLl GL b. gmui usgmi c. QawisT - & aflbd
d. efibgh Oasuig e. el Oxfuwalsveneo

Sales Tax was introduced in Tamil Nadu by

a. Rajaji b. C.N. Annadurai c. Kamarajar
d. Bhaktavachalam e. Answer not known

SODBHTL 1960 alBuemen eufl wimgmed SISPSLIUGSHSUILIL L H1?

a. @ymegmey) b. &.e1651. SiewTERITHIH]T C. SIS

d. usseaiFaeold e. allewL  Oxfuwailsbenev

The Political Party started by Ambedkar was

a. Republican Party of India b. Communist Party

c. Ghadar party d. All India Forward Bloc

e. Answer not known

SIbBUSHHTITEL QTIDLISSIIL L. DFFluied L&

a. @bHws GuIFsHdH S & b. sibugefedl &I g C. HMT S
d. oo @hdHw ..umteu  (Nenms e. alewl G fNuwalevemnsv

In which session of the Indian National congress was the National song
‘Vante Mataram’ sung for the first time?

a. Mumbai - 1896 b. Varanasi - 1896 c. Lahore - 1896

d. Kolkatta - 1896 e. Answer not known

Opawu Cxpdlw smmggeler 6bhdh SloTaled Ghfwil umeomen ‘eubGs WTHIID’
(WPSHET (1pFH6eVe0 LML LI L G)?

a. (ipibeml — 1896 b. aumyewim-1896 C. 6UTEnT -1896

d. s60553HT-1896 e. el Oxfuwialsvenev

Who was the first to give the call for ‘Swaraj” as ‘India for Indians’?
a. Swami Vivekanand b. Swami Dayanand Saraswathi

c. Mahatma Gandhi d. Dadabhai Nauroji

e. Answer not known

ST g HHHlaUomer ‘@bAHT BbHHWTHEHHCH’ 6D FaBenm  (LPH6e060
GleuerflulL L 6uiT

a. seumdl mi](%masrrﬁmrj,g,rr b. seumd swnenhg Fyerdeud C. D&THIOT SHMHIF)
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16.

17.
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d. sremumui GpenGyre) e. allewL  OFfwealedenev

The Political Guru of Kamarajar was

a. Nehru b. Gandhiji c. Sathyamoorthy
d. Annadurai e. Answer not known

smografler SIFsluisd G

a. Gm(m b. &bl C. FHHWCPTHS

d. ojeutewiTgIen]y e. el Oxfuwalsveneo

Fill in the blanks

Seena Misiram yavanaragam - innum
Desam Palavum Pugazhveesi - Kalai
Gnanam padaithozhil Vanibamum - miga

Nandru Valartha
a. Tamil Nadu b. Desiya Thirunad  c. Navalam Nannadu
d. Thainadu e. Answer not known

Camgl L &L Hma HIILILs:
Fer WOFFD WeUIHID - E)6iTanILD
Gxa1b LeaYD UsDaiFd - Hemev
@HTEID LImL HOSHTIHL eumemiLI(LpD - WS

BeIml eueNnTdHs
a. IDHTH b. Gadlwig HmBTh C. [BTEUGVLD [H&IHT(H
d. smuimr® e. alenL  GaMuialsvemev

‘Senthamizh Thenee, Sindhukku Thandhai
Kuvikkum Kavidhai Kuyil! Innattinai
Kavizhkkum Pagaiyai Kavizhkkum Kaviyarasu’
Who are the two poets associated with the lines above?
a. Barathiyaar, Abdul Raguman

b. Kalaignar Karunanidhi, Vairamuthu

c. Kannadasan, Pattukkottai Kalyana Sundaram
d. Barathiyaar, Baradhidasan

e. Answer not known

“Oapaidipd Cxel, HbabGoes HhHms!

GalEGD salmss Guilesd! EHBTL Q6T
sIpHGID Lmdamuld Sallpdh@Gld Sallyd’

-Absl uTLGeom(h GHTLTemL W E\(mHeulT wimT?

a. Umy&HwImT, SIIHI60 JEGLomedr b. m60EhT HHMIMHS, UT(LPSHSI
C. HeNTeNIHTF6N, LI (BHHCHTL ML SHe0WITENT S[bSJLD
d. umygwnit, uryHsraFes e. alowL  OFMwalsdensy

Who is called as “Sundharan “ in Ramayanam?
a. Raman b. Lakshman c. Vibhishnan
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18.

19.

20.

21.

22.

d. Hanuman e. Answer not known
@rToTWenISHH 60 SHHBHTET 6leTad CUWITTeD SIenPSSLUILIBLGUT WimT?
a. @ymioest b. Bevd@ 66t C. LT 6wore01
d. oienioest e. el Oxfuwalsveneo

Who is called as Rousseau of Tamil Nadu?

a. Rajaji b. Sathyamorthy c. CN.Annadurai
d. Thanthai Periyar e. Answer not known

‘O BILIeT HBFT eIl SIMLPSHBLILIBLICUT

a. gregreyg) b. #&FHwiepiTsHd) C. &).6T631.|6UIT6U0TT 16N
d. sheng Quifiwim e. allewL Oz fwailsdenev

Who was the Minister of Agriculture under the Ministry of
C.N.Annadurai?
a. Nedunchezhian b. Madavan c. Sadiq Patsha

d. Govindasamy e. Answer not known

&l.e161.  SlewIeNITGHIm] DienFFTmaluled GCouenTeuigHiens DMLFFITH S HHSHUT
wmir?

a. Gp{HEhOFIHUIGH b. wrgeuest C. gMFHES LT agT

d. Gamailpbaamil e. allewL  Oxfuwailsdeney

Who presided over the first Self Respect Movement conference at
Chengalpat by February 17, 1929?
a. Dr. B. Subbarayan b. E.V.Ramasamy c. P.T.Rajan

d. Panagal Raja e. Answer not known
1929 Migeufl 1760 OQamiseoUliged BLHS SFWofwmemnd SubsHH6  (LPE&H6ed
LOMBTLIQME HEDEVENLD SHTRISIUIGNT WIiT?

a. LrsLiT.Ul.aluymuest b. #.Gauymoamid C. L1.19.regent

d. uemed [FTEgT e. allewL  Oxpfuwalsensv

In Madras Presidency, justice party was in the rule for years.
a. 10 years b. 13 years c. 15 years

d. 16 years e. Answer not known

bHEBLF OFeaTenet LOTHTHH0 i Fuled E(HHSH HT60VLD

a. 10 Sy ew[BHeb6l b. 13 syewiBasei C. 15 SLamiBHer
d. 16 syemiBasei e. allewL Oz fuiailsdenev

Fill in the blanks:

Nerunal Ulanoruvan Indrillai Ennum Utaiththuiv Vulaku.
a. Perumai-(Pride) b. Porunar-(Might)  c. Kadumai-(Relentless)

d. Sirumai - (Pettiness) e. Answer not known

Cxmol L &L Hm BT s:
OBHPHEL 2 _6MM6 G(HeUT ETNSELM60 CTETEILD 2 _MLHIH £)61660S.
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23.

24,

25.

26.

a. GLmemLD b. QummBT C. &BHEMLD
d. Amienio e. el GxMuwalesdensy

“The Guest arrived he tends, the coming guest expects to see: To those in
heavenly homes that dwell a welcome guest is he!” What is the “relentless
duty” related in this Thirukkural?

a. Making money b. Doing charity c. Hospitality

d. Protecting the family e. Answer not known

“OFeval(Bbad QWL aumalhbEH UTTSHSHLILIT6IT

BeLA(BHSH QTS HoUTHEG

B&HGHMBET FnpIld LI TH LMD 61FI7

a. Gummei’ BHeL b. OFTewIBG GFU1H60 c. el pbGSHTIDLIED

d. &BhuUSmBHDH BTHH60 e. alewl O fuialevensv

Friendship with learned people is compared to the waxing moon by
Valluvar, then friendship with whom is like a waning moon to him?

a. Learned people ( Arivudaiyaar) b. Ignorant People (Arivillathoor)
c. Loved ones( Anbilathor) d. Unloving ( Anbilathor)

e. Answer not known

SleyenLweuflesr HLUL ewmiog) Gumev HlewmbEH UHOUSH 6TIHIBID AIGTEHAIT,
wremL W B wepwdl Cauisuamalt CUTeaiBgl 616 SnBIsIBTT?

a. oMleyenL_uimiT b. onflefeveur et C. SIGILIeML WI6UT

d. oienleorsHeuit e. allewL  Gxfwalsteney

Who eulogises Thirukkural as follows:

“Ellaa porulum ithanpallula ithanpal

illatha epporulum illaiyaal”?

a. Avvaiyar b. Erichaloor Maladanaar
c. Madurai Tamil Naganaar d. Mangudi Marudhanaar
e. Answer not known

“616060ML1 QUIT(HEHLD EHETLITEIED: EHEILITED

®6060TS  CTLIOILIT(HEHLD Ee0eMEVUITED”

aaIp H(HEGDenendF SpULIteuT uimr?

a. GEIEMEULLITIT b. e FFeUITT LDGVTL 60TTIT C. LDZHINTS  SLOLDBITEHEOITT
d. il o SBEITT e. alewl O fuialevensv

Didactic old mocking proverbs in Tamil are called in oral literature
a. Vidukadhai b. Salavadai c. Pisi (Sublime)

d. Proverbs ( Pazhamozhi) e. Answer not known

SHewiLeoTd DiBflayen] CFTELOS B @FH aIend UTUIODTY @evddwSHHer GIuiT
a. albhams b. GQaFmeveuenL c. 4

d. b e. allewL O fwailsdenev
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27. Who is the founder of Thirupanandhal Kasi Mutt?
a. Kalamega Pulavar b. Gnana Sambandhar
c. Arunagirinadhar d. Kumarakurubarar
e. Answer not known
‘FmLUeThHTeT ST 0L SHemd HpalweuT wim?
a. &men@osll Ljeveul b. @pTer FIDLIHST C. OI(HEISHIMBTSHT
d. @wy@muyT e. alewL  Gxfwalsbensy

28. Among “Pathupattu” what are the “Sempaathi” texts called as?

a. Aga Noolgal b. Pura Noolgal c. Aatrupadai Noolgal
d. Agapura Noolgal e. Answer not known

USSIIUTL 1960 GFIbLITE eTelleuend HIT6LSH6IT?

a. O|BBHITEVSH6IT b. uB ®ETELH6I C. QIBOBILILIENL  [BITELEHEIT
d. oislp  BIeOSH6N e. allewL  Gxfwailstenev

29. What is meant by the Greek Physician Hippocrates as ‘Indian Medicine’?

a. Pepper b. Turmeric c. Neem

d. Cinnamon e. Answer not known

‘@hFHW WwmHHA s HCrss WwHHHIT asiiGUTSCTLLED gnpslul QUmmHel
a. e, b. wehFeir c. GeuibLy

d. ulen e. allenL Gafuialsvensy

30. As per 2020 -21 Statistics, the largest contribution to GSDP in Tamil Nadu
comes from
a. Agriculture b. Industry c. Mining

d. Services e. Answer not known

2020 21 &b oewi®  YelTardl  alleuglinig, SWODETLIQEd 2 6MBETL(H 2 BLSHSHUle0
SIFH LUBIG USIIUG

a. GauerTewientp b. Qamfeosiens C. GJMBIGBLD

d. uewflmeit e. alenL  Gafuialsvensv

31. "ASHA’ stands for
a. Accredited Social Health Activist
b. Accredited Self Help Activities
c. Ayush Sanitation and Hygiene Activities
d. Association for Social Health Activities
e. Answer not known
‘ASHA’ e1eiiLig|
a. QMISHMSSILULL Fpd SHTHT] OFUIOLITL L T6T
b. gmdsfasasiu L suw 2 el [BLalgdhmower
C. UG GiHSHD LOBBID SHSBTHTT L GUYSHENHH6N
d. seps FHTHTT BLAIQHMBHEHHBTET DIHLDLIL]
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34.
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e. alowL  OFfwalsdensy

Match the constitutional article with the respective rights of women for
their social justice:

Article Rights
A. Article 14 1. Equal opportunity of employment
B. Article 15 2. Freedom of Speech
C. Article 16 3. Non - discrimination
D. Article 19 4. Equality
A B C D
a. 3 2 1 4
b. 4 3 1 2
c. 2 3 4 1
d 4 3 2 1

e. Answer not known
SpHBHHMILauBMled Guemigeer Fepd HHHBTH GUPRISLILIL (HeTel 2 [fenLDsemer
SIFHeT SFwevemolil LfleyasGenmBl CUT(HHSHIS.

SrFlwevenioli] o 1 19fley o _flemLoaseit
A. 2 Lfle 14 1. Gauemevaumuiriied &FoaumuiliL]
B. o 1ifley 15 2. Gu&aflenip
C. 2 Ley 16 3. LIMGLITIQE0TenLD
D. o (19fley 19 4. g0 2 _feno
A B C D
a. 3 2 1 4
b. 4 3 1 2
C. 2 3 4 1
d 4 3 2 1

e. allewL  OFflwealedensv

Find the Chief Minister who introduced five eggs/bananas per week with
nutritious noon meal scheme.

a. Kamaraj b. Rajaji c. Anna

d. Karunanithi e. Answer not known

LFHUW FHIHESH L HHO UMIHHBG MbSH (WPL L6/ 6UTEDLPLILILPHIGHEIT
a6l SIB(WPSLILBGSHIHW  (LPHeVMDFFNTSH FH6wIL1515.

a. SOYTe] b. gregred C. S)|GUOT6uIT

d. &mewimB&) e. el GxMuwialsdenev

Tamil Nadu is rich in

a. Forest resources b. Human resources c. Mineral resources
d. Water resources e. Answer not known

SOIDHTH 61H60 GU6NLOTEISI?

a. QUG GUGITLD b. wefls aembd C. B&MD GUeNLD
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d. sewenfT euermid e. allewL Oz fwailsdenev

35. Assertion (A): Tamil Nadu has the highest installed wind energy
capacity in India.

Reason (R) : The state has very high quality of off- shore wind energy.

a. Both A and R are true and R explains A

b. Both A and R are true but does not explain A

c. A is true but R is false

d. A is false but R is true

e. Answer not known

&Bm (A) : @hIHwmalColu SiFs STHBBTMEL BB SHBET OBTEWIL
LOTHIGOD  SHLODHT(H.

&Myenib(R): @oTHlevld Ws o Wiihd SHILomer HL_Geonyd STHBBTMEL HLBBEN6VH
OBTewT(HeITEN G,

a. A wppb R @rewid Ff Guwedb R, A &1 alendsld

b. A wBmb R Byewibid oM Goed R, AR alendssaleomed

c. A afl gemed R Heum

d. A seum semed R &

e. allewL  Oxflwealedensv

36. Match the following

Programmes Year
A. National Rural Health Mission 1.1992
B. National AIDS Control Programme 2.2019
C. The National Medical Commission Act 3.1939
D. Tamil Nadu Public Health Act 4. 2005
A B C D
a. 1 3 4 2
b. 1 2 3 4
C. 2 1 3 4
d 4 1 2 3

e. Answer not known
SIPHHEWIL_ MBI GUIT(HSHHIS.

IEINLIER QU(HLLD
A. Gl omys SFHTHMIH SHIL LD 1. 1992
B. Gadlw euiled sl (GUUT (S SHLrwb 2. 2019
C. Gapdlw wmsHHNsS GURF FLLID 3. 1939
D. sbprtlh QUTEHF SSTHTIF FLLID 4. 2005

A B C D

an op
== N W

4
3
3
2

Wk =D

1
1
2
4
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e. alowL  OFfwalsdensy

Who is the founder of Satya Shodak Samaj?

a. Gandhi b. Ambetkar c. Jyotirao Phule
d. Raja Ram Mohan e. Answer not known

gHW GagmL & &FOTE] - SIGWLOLILN6T HIBIeUedTT wimiT?

a. &Mph) b. ©1bBugbsit c. Gxnalymei 1,Bev
d. gregm gmb  Guomesest e. el Oxfuwalsveneo

Who established and led the Paraiyar Mahajan Sabha which later became
Adi - Dravida Mahajana Sabha
a. Ayothidasar b. Rettamalai Srinivasan  c. M.C.Rajah

d. None of the above e. Answer not known

o SHomell  eTMer Fenu  eleil LSBT S6Med  SIenPSSUILLL  LIeHBWIT
wanTear Foumw CamBpialss audBLSHEHweuT wmT?

a. 9IBwTsh g HTeroi b. Gy Lwenev FefleumFesr c. M.C.gregm
d. GuBseiLaubmien agiafieomev €. alenl G Muwaleoemsv

Human Development Index, embodies Amartyasen’'s “Capabilities
Approach” to understand

a. Education b. Human wellbeing c. Happiness

d. GDP e. Answer not known

wellgs  euerm  Gobum B yeteflullwed,  ouoTdwngesr  GUuULL  “Hpeisel
SIEDIG(LPOB”  WIT6TH) oM LTheH OCHTeTouSBHTE © (HEUTHSLILILL ).

a. &eval b. el BHev euTpey C. A p&Fd

d. Gsdlw aumLomenTLD e. allewL  Gxfwalsdeney

Two dice are thrown simultaneously. The probability of getting a doublet
is
a.1/36 b.1/3 c.1/6

d.2/3 e. Answer not known

@81 GCpraHgled @m usmLEeT o (HULLUBGHemer. usemLuller  @yewni(h
(WHmIGBeTaID Gy elewieniTed E(HHD HHLDHH6

a.1/36 b.1/3 c.1/6

d.2/3 e. el Oxfuwialsvenev

The ratio of copper and zinc in an alloy is 5:3. If the weight of copper in the
alloy is 30.5 grams. Then the weight of zinc in the alloy is
a. 15.8 gram b.16.5 gram c.18.3 gram

d. 50.8 gram e. Answer not known

m o Booresd sHevemeuulsd SHTOFD WLBHBID SHSHSHHTESHET  alHHD  5:3
91616 CeuTHd BHevemauulled HTOTHHe 6ol 30.5 HITD HHBHHTHHH6T 6TenL
a. 15.8 &ymp b. 16.5 &ymb c. 18.3 &ymb
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43.

44.

45.

d. 50.8 Symb e. alenL  GaMuialsvensv

What percentage is 2 minutes in an hour?

a.3 2% b.3 % c.37%

d. 3%% e. Answer not known

@@ wenl GBIHHled 2 ML MISET LS 61HHMI FHAIBHD GLEGLD?
a.32% b.3 2% c.33%

d. 3%% e. allewL Oz fwailsdenev

When 12+10 = 1205
11+8 =885
then 14+15=?
a. 1005 b. 120 c. 710 d. 2105 e. Answer not known
12+10 = 1205
11+8 =885
aiadiew 14+15=?
a. 1005 b. 120 c. 710 d. 2105 e. alenL  Gafuialsvensv

Find out the Pythagorean Triplet.

a. (20, 22, 29) b. (20,21,28) c. (20,21,29)

d. (22, 21, 29) e. Answer not known
LeleumeueiauBmlel eTemel LlgHTosmulenet cpeaipler OHmEHa sHei.
a. (20, 22, 29) b. (20,21,28) c. (20,21,29)

d. (22, 21, 29) e. el OxMuwalsveneo

P alone can do %of a work in 6 days and Q alone can do % of the same

work in 4 days. In how many days will they finish %of the work, working

together?
a.3 b.6 c.12 d. 15 e. Answer not known

P eteiueuT SHeolGui em  GCouemevuiest % UGHedw 6 BT Hefed, Q 6T6sTLIGUT
1w 918z Gouemevuilest % LUGFHew 4 BT S6MeIDd (Wliuf.  E\hHeU(HD

BemenbeH Db @wm@uﬁ]a&r% UG 615HHmed BT H6160 (LIQLILIT?
a.3 b. 6 c.12 d. 15 e. el Gxfuwalsvenev
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49.
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The area of the biggest circle cut out from the square of ‘a’ units is
(approx.)

11 . . .
a. —a’ sq.units b. 2 sq. units c. 2a sq. units
14 14 7
9 .
d. Eaz sq. units e. Answer not known

¢

a DIVG USS  SeTayeTen @@  FRTSHHMHHEH  OeulgOuwBeslLBLD
Wasloufw eul L SHler uglitene] Hrenis. (CHTITULILOTS)

a Eazag b. 2a? F.9) c. 34 F.9)
L ‘12 : = :
d. %az F.9) e. alenL Gz fuialsvensy

Find the compound interest on Rs. 15,625 for 9 months at 16% per annum
compounded quarterly.

a. Rs. 1851 b. Rs. 1941 c. Rs. 1951

d. Rs.1961 e. Answer not known

SHTEUTEWIYMBE @ (PeOB AUl HISHSBLD (LPewBuled ¢5.15,625 G LeWIYBS
16% e’y @i HHe0 9 WIHHIBEHEHESG SMLEGWD Tl B QI IQenUIdH SHTeHISH.

a. Rs. 1851 b. Rs. 1941 c. Rs. 1951
d. Rs.1961 e. alenL  Gafuiealevemsv

In a certain time, a sum becomes 4 times at the rate of 5% per annum. At
what rate of simple interest, the same sum becomes 8 times in the same
duration?

a. 11§% b. 113% C. 12§%
5 3 5
2

d. 125% e. Answer not known

GBI L ewiBBeilled @ SFeOTOIH UWIBHGH 5% el aindHHeo 4
L BISTHBSH. DI6H Sigevnang, D6k ewibHelled 8 LmETE CouamiBoloemed
SHeleUl’ g QiFHLD 616576017

a. 1129% b. 112% c. 122%
5 3 5
d. 12%% e. alewl O fuialevensv
Find x
x:26::5:65
a. 1l b.2 c.3 d. 4 e. Answer not known
X & HITEIdH
x:26::5:65
a. 1l b. 2 c.3 d. 4 e. el Gxfuwalsvenev
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53.

54.

55.

APPE> L0
STUDY GCENTRE
CHENNAI

The LCM of two numbers is 432 and their HCF is 36. If one of the numbers
is 108, then the other number is

a. 36 b. 108 c.144 d. 432 e. Answer not known
O etewigelenr 0.0umw. 432 wBmId SeuBpPer W.GuT.sT. 36. T etewr 108
oTealleL, LoMGMITT  6T6u0T

a. 36 b. 108 c. 144 d. 432 e. alenL  GaMuialsvanew
Find the LCM of -9 a3 b?, 12 a2 b2c¢

a. -36 a2b2c b.-36 a3 b2 ¢ c.36a3b2c
d.36 a>btc e. Answer not known

-9a%b? 12 a2 b?c - et 15.QUIT.LD. SHT6wIH

a. -36a2b2c b. -36 a3 b2 ¢ c.36a3b2c
d.36 a5 bt c e. el Gxfwalsdensy

How many terms of the series 1+4+16 + .... make the sum 1365?

a.b b.6 c.4 d.3 e. Answer not known
1+4+16 + .... a3 OFHTLM6GT 6THHMeT 2 MIIL|HHMENT Fnl 196aTT60 Fn(hHe0 1365
S dGLD?

a.>s b. 6 c.4 d.3 e. alewL O fNuweaisoenev

A clock seen through a mirror shows quarter past three. What is the correct
time shown by the clock?

a. 9 hours 45 minutes b. 9 hours 15 minutes

c. 8 hours 45 minutes d. 3 hours 15 minutes

e. Answer not known

RH HYHTIID  SHewrewimguiled UTTHGD Gurgdl Gmyd 3 wewl 15 EHIOL mIHeTTH
® 6ilengl eievid ST BHMGH 6lefled HlodTIHHer Fflwimer Gryd

a.9 wewil 45 HLOLFise b.9 el 15 MO Biselt

C. 8 wewll 45 ML Misel d.3 wewil 15 POl miseit

e. allewL  OFflwalsvensv

Two coins are tossed together. What is the probability of getting different

faces on the coins?
a. i b. 1 o L d i e. Answer not known
8 2 36 4
R el OFHT guimergdl 3.8 16 X 25 15 X 1.6 1 61aIB SieN6YHen6N 26Dl UIGI.
BObhH BT IQUITEIHI 615HHMe UL LT HewrewnlT GeTeiT@mHLd?
a.l b. 1 c. 1
d. 1 e. el Oz fuwialsvenev

The dimensions of a fish tank are 3.8 m x 2.5 m x 1.6 m. How many litres of

water in can hold?
a. 1520 L b. 15200 L c.15.2L
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57.

58.

59.

60.
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d.152 L e. Answer not known

R el OFHT guimergl 3.8 16 X 25 5 X 1.6 1§ 6IIB SI6N6YSHN6NT 2 6DL UG
Obs ST IQUITEIH 61HHemaT 60 LT HewrewiT GleTeTEmD?

a. 1520 a0 LT b. 15200 6L it c.15.2 oL

d. 152 a0 LiT e. el Oz fuwalsveneo

The smallest number that can be divided by 254 and 508 which leaves
remainder 4 is

a.6 b. 258 c. 512 d. 1024 e. Answer not known

254 wppid 508 Elw  eemidmeT  aGHGWD  Curgkl  Hwns  4-83  SH(HD
X2 NS )

a.6 b. 258 c.512 d. 1024 e. allewL  Gxfwalsbensy

Find the unit digit of the numeric expression 1000010000 + 17777111111

a.0 b.3 c. 1 d.5 e. Answer not known
1000010000 + 71111111111 51 @6HIBTD B6V&H LD
a.o b.3 c. 1 d.s e. aflen  GaMuwelsvemev

Cholan walks 6 kms in 1 hour at constant speed. Find the distance covered
by him in 20 mins at the same speed

a.1km b. 2 kms c. 3 kms

d. 4 kms e. Answer not known

Gampeir  gymert  CousHHe0 HLBH 6 .5 OFHTemevener 1 wewll  GEHyHHe0
sL5IpTT. 6 BGausdhdled T 20 HIUL M6 BLbBSH SLSGHD CHTmeve]
6161161616 ?

a. 1 &b b.2 &.8. ¢ 3 &b d.4 @i e. alewL OFNwalevemev

If the deposited amount is Rs. 5,000, the rate of Compound Interest is 12 %
per annum and compound interest is calculated every half year, then the
total amount after one year is

a. Rs. 5,648 b. Rs. 5,618 c. Rs. 5,678

d. Rs. 5, 668 e. Answer not known

&HLB el aipld HYmihdG 12% 6B aidhdhse0 % W BEHG Q@H  (LPOB
SHHHIL LGB 6Te60 0H.5,000 GFaISSILLL LT (H eU(HLID HWGHH GCLoTshs
OpTens

a. Rs. 5,648 b. Rs. 5,618 c. Rs. 5,678

d. Rs. 5, 668 e. el Gxfuwalstency

In how many years will a sum of Rs. 5,000 amount to Rs. 5,800 at the rate of
8% per annum?
a. 2 years b. 4 years c. 3 years

d. 5 yars e. Answer not known
¢5.5,000 eH,8% Uy aiHHIHeL 61HHme DewhHerle0, 5.5,800 & WTMID
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61.

62.

63.

64.

65.

a.2 oewIHEe6N b. 4 syewiHeein C.3 SLewIBH6I
d.5 eyemiBsen e. el Oxfuwalsveneo

If A:B=2:3and B:C = 4:5 then the ratio of C:A is

a.b4 b. 5:20 c. 8:15

d. 15:8 e. Answer not known
A:B=23uppi> B:C=4:5aaied C:A a1 aldsid

a. b4 b. 5:20 c. 8:15

d. 15:8 e. alenL  Gafuwiealsvensy

The LCM of 156 and 124 is

a. 4836 b. 3846 c. 8346
d. 4683 e. Answer not known

156 wBmd 124 spFHlul elewiseier L5.GUT.LD.

a. 4836 b. 3846 c. 8346
d. 4683 e. alenL  Gafualsvemsv

If 31log. 5 =1, then find the value of x

a.b b. 25 c. 125 d. 625 e. Answer not known
3logy5=1 eafled X -1 AL HTewis
a.5 b. 25 c. 125 d. 625 e. el Gxfuwalsensv

The rain water that falls on a roof of area 6160 m? is collected in a
cylindrical tank of diameter 14 m and height 10 m and thus the tank is
completely filled. Find the height of rain water on the roof.

a.25 cm b. 25m c.0.25 cm

d. 250 cm e. Answer not known

6160 1§ > ugliuene GsmewiL gmenguled alapd wWepBT 14 15 el Lb Bpd 10
0 o wyh OsmewL @ 2 (Hemel ST uled Gsasfessiiu’ B GFHeamed CHTL g
(Wpemwwited  BIiuiuGaBg ealed dmengulled allpd wenp Bl 2 wrsHameHsd
BTG,

a. 25 GQF.18. b.25 . c. 0.25 Gg.16.
d. 250 Q&.16. e. el Oz fuwialsvenev

Choose the correct order of studying scientific method

1. Empirical Test 2. Hypothesis

3. Observation 4. Conclusion

a. 3,214 b.2,3,1,4 c.1,234

d.3,1,2,4 e. Answer not known

Slalwied (Wemenwlll LgshG Fflwmer auflmgmuw CsHiTe) GFuiwe)d
1. simien Gargmene 2. B(HHICHT6IT

3. BaueiliL 4. (1p1Ya|emy

a.3,2,1,4 b.2,3,1,4 c.1,234
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68.

69.
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d.3,1,2,4 e. Answer not known

The term “Scientific temper” was used by

a. Mahatma Gandhi in “Autobiography’

b. Nehru in ‘Discovery of India’

c. Kautilya in “Arthashastra’

d. Bipan Chandra in “History of Modern India’

e. Answer not known

‘Qnflallwed FHTHHID’ 6l CFTevedlemenrll LILIGTLIHSHSWIeUT

a. &HTHT SMhHFH ‘SFwFhens’ b. e ‘@wILmbs b’

C. OmemgeowlT ‘ 9ITHHFTOVSHITID’ d. et FhAIT ‘Bafer BbhHu eureorml’
e. alewL  OFflwalsvensv

Skills that are developed by learning science
a. communication skill and creativeness

b. creativeness and curiosity

c. writing skill and open mindedness

d. open mindedness and communication skill
e. Answer not known

ofalwenevd SBBIH CETeTeuBHel cpevld CHTFF GUBGHIQUI HB6ISH6I
a. OHTLTYS FHmedt WLBHID LenL LLMBB6L

b. uewLLILTBBeL BBID SYTeID

C. 61D FHIWeT LOBEILD FHWHSH LOILILITETENLD

d. Hpbs weriuTesem BBID CHTLTLSH Hme
e. allewL  OFflwalsvenso

The prokaryotes are included in the kingdom

a. Fungi b. Monera c. Animalia

d. Plantae e. Answer not known

LGym@a MBI’ (habeit @rreduisHFHed o _6iTenL SEU6iTerng).

a. L6heng H6iT b. Guomesiym . ojeNGadwim
d. DemmemiGL e. allewL O fuialsdenev

Which one of the following is not marine ecosystem?

a. Estuary b. Coral reefs c. Sea
d. Lake e. Answer not known
Leiau(heueTauBmled 6lhd @6iIml HL 6D G060 ST Ee0euTHSHI?
a. s(PsLd b. Leuen LTenBBHEI C. &L 6D
d. gfl e. el Gxfuwialsveney

Which one of the following is not a bacterial disease?
a. Gonorrhoea b. Tuberculosis c. Dysentry
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72.

73.

74.
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d. Mumps e. Answer not known

spsaTanid CrTuiseaisd 61 LTSlefwmalamed gBUBSSILIGL ChTUI ©jevev?
a. Cuws6eu’ e Gpmul b. 19uyuim@Beomenierd C. auuIBmit Curs@,
d. QureTensE el e. el OxMuwalevenso

Thinking with reasoning is

a. Creating new ideas b. Linking past experience with cause
c. Developing open - mindedness d. Predicting future

e. Answer not known

LGSSBle| e FbHHSHe0 e

a. yow 2 _HIHHemel 2 (HeUThEH60

b. L5 Si@ILISMHBE BTTERIBIBENTEH OCHTLTLLIGHHIHE0

C. HBHS LOGILILITETND 2 (HEUTE(EHSH6D

d. e dTETesHms SIIDTEID CFUIH60

e. allewL  OFfwealedenev

Find the odd number pair

a. 23:29 b.19:25 c. 13:17

d.3:5 e. Answer not known

OHTLTUMBMB 6TewT Denerienuld 6wl MlUia|LD

a. 23:29 b. 19:25 c.13:17

d. 3:5 e. allewL O fuwialsbencv

Arrange the following Chief Election Commissioners of India in

chronological order:

1. Sunil Arora 2. Rajiv Kumar

3. Navin Chawla 4. Sushil Chandra

a.3,1,4,1 b.1,2,3,4 c.43,2,1
d.1,2,4,3 e. Answer not known

Ueieumbd  @bFHw  Hmeoednd CHTHeL  OLemewILITENTHMET — STevalflengliLig
aflen gl LB SHHIS.

1. sl oI@ymym 2. guedeil (@LDT

3. paier Fmeileom 4. safled FHATT

a.3,1,4,1 b.1,2,34 c. 43,21
d.1,2,4,3 e. el Gxfuwialsveney

Among the states listed below, the one that has the largest number of Lok
Sabha Seats is
a. West Bengal b. Gujarat c. Assam

d. Rajasthan e. Answer not known

&B1p O@TBHaHBLILIL (HolTer LOMT[Hl6VMRISH (6THEEH 61T D& BH6TTen6UUT6D SIFHBLOTE0T
BL msemell UMM LOTH6VLD

a. GuBE@ eIRISTENILD b. &5 C. SIGNOGIVMLD
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75.

76.

77.

78.

79.

d. &yregerogmest e. alewL  Gxfwalsbensy

The Nobel Prize in chemistry for the year 2009 was awarded for
a. “the directed evolution of enzymes”

b. “the studies of the structure and function of ribosome”

c. “mechanistic studies of DNA repair”

d. “Studies of G-protein - coupled receptors”

e. Answer not known

2009- s et Ceuglulwendbster Grmusd Lfg SHBHTH  QUPBIGLILIL L F|.
a. Oprgseaiear QuidbsiiLl L ufleamosdBE

b. engGuBamiesr &I Lenioli] wBEId GFweour® UBsiul SLUI6|H6IT
C. 19.6T601.6] 66U LIGHILUMTEGSGLD SWibhSHTaluied SLUI6]H6l

d. 98- yrs- Qoewibd gBLiselar Suia|Hel

e. allewL  Oxfwealedensv

In which state, India’s first commercial space situational awareness
observatory, to track objects as small as 10 cm in size orbiting the earth,
will be set up in

a. Assam b. Uttarkhand c. Mumbeai

d. Chennai e. Answer not known

@bhHwunalear e6hsd LTHSHSHe0, Lblemwd &FBp euwmd 10 GF.5. ojeneayeiren
QUT(HL Hem6NS HEWIHTEWNHS (LPHeL 6UewNs  alenicalei @Gbeney @il |ewnrTey
SHEUIBHTEONLILISLD DIGHIDSHBLILIL. 2 6iT6NSHI?

a. OIFTD b. 2 saysmemi C. (IpLbemLI

d. GFeenen e. allewL  Gxpfwalsensy

Meghalaya state came into existence in the year

a. 1968 b. 1970 c. 1972 d. 1973 e. Answer not known
Gasmeowim Heoll LOTHEVTS 2 (HEUTET DL6uTI(H
a. 1968 b. 1970 c. 1972 d. 1973 e. alenL  GaMuialsvemsv
guarantees work and income for the rural work force
a. MGNREGA b. SBM c. CSC
d. SSA e. Answer not known
epeuld  SFmoliILB  OHTilevTenTaens@ Calensd WLBMILD oamgHuid o mig)
CeIwtILGHBSI.
a. MGNREGA b. SBM c. CSC
d. SSA e. el Oxpfuwialsvenev
The 27t session of the conference of the parties (cop 27) to the UNFCCC

will take place in Sharm el -sheikh, Egypt from 6-18 November 2022, in
connection with
a. Climate change b. Carbon Tax
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82.

83.

84.
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c. Carbon foot print d. Conservation of threatened species

e. Answer not known

UNFCCC -samen sl dseflen 1OTHTLIGET (cop 27) 276Uzl Siwfe] 61&l1ge0
® oifem (Sharm el- sheikh) agmb 6160 GFsd &0 6-18 HeulbUT 2022 6UED]T  6TSH6HT
STJeILOTS BLSHFLILIBGSBSHI?

a. ST6VHIENEVLDTHBMLD b. sniuest euf C. BIMTUGT HT6D DIF&

d. sufaler aleMibiled 2 _eiten 2 _ulflamisemenl LITGISTEHS

e. alowL  OFfwalsdensy

The head quarters of the south western Railway is located in

a. Hubli b. Allahabad c. Bhubaneshwar

d. Jabalpur e. Answer not known

CaaomE@ TuNebBeauuleT HemELMLDWISLD 6IEIG6iTeNEHI?

a. emelier b. &evETUTS C. LouGareroau
d. sguedyyT e. el OxMuwalsveneo

Which among the following is known for the high quality of lignite?

a. Bituminous b. Lignite c. Anthracite

d. Beat e. Answer not known

&8 OaThHdHalILL (HeiTemeuciauBBIell SHIL0HS Hlevdsil eer DmSlwlLbeug 61g?
a. yemsLi@ Hlevdb i b. uapiiy Plevdsi C. SlameLllG Hlevdasi
d. i e. alewL  OzMuwiaisbenev

Which type of Iron ore is called oxide of iron?

a. Haematite b. Magnetite c. Limonite
d. Siderite e. Answer not known

abd aUMd BB HTH, DB HmFH 6160 HMPSHSLILGSBSHI?
a. GamioenL L b. Guéerent 1 C. 60DementL_
d. ALenyl e. allewL  Oxpfuwalseney

The first Meterological Director General of India was

a. V.P. Subramanyam b. R.L.Singh c. K.L.Rao
d. H.E.Bland Ford e. Answer not known

@phHuraler (1pHe0 eauTealemew BUISGHT 6ClegetyeL

a. all.L1. a&liyoemniuib b. &yt.6160.81%I C. @p.6160.7M6N

d. em&.F.Nemmewi® . .CuTTH e. el Oxfuwialsvenev

In which season Jet Stream Influences in the Indian monsoon

a. South - West monsoon  b. Summer and Winter season

c. Retreating monsoon d. Rainy Season

e. Answer not known

Oml &MeBTLLD @b umey STHBBIEL  6hHEH L[HUSHD HTHBHMSD
IBUGSBIBBEI?

19| Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187  http://www.appolosupport.com/




APPE> L0
STUDY GCENTRE
CHENNAI

a. Qa1 - CuoBE umHeusTBHI b. GamenL BmID &6eMiTHTevID
C. USIIenL6)] LI(HEUBTEOLD d. emips  SmTevd
e. alowL  OFMwalsdensy

85. Arrange the Gupta rulers in chronological order:

1. Samudra Gupta 2. Sri Gupta

3. Kumara Gupta - II 4. Rama Gupta

a. 2,14,3 b.2,3,4,1 c. 4,231
d.4,3,1,2 e. Answer not known

GUSH L FwimenTsemen sTevalflengliLg OibHdHEG:

1. swsgly eusT 2.1f GuST

3. BJewILMD Gy @GS 4. gmom  GUST

a. 2,14,3 b.2,3,4,1 c.4,23,1
d.43,1,2 e. el Oz Muwalsveneo

86. Another bold feature of the constitution is that it seeks to establish a
secular state which of the following statements does not relate to the idea
of a secular state?

a. Religious equality has been provided

b. Cultural heritage of the minorities has been protected

c. Untouchability has been done away

d. Some of its ideas are against the idea sovereignty

e. Answer not known

SIrFweosnolIilesr LoBOMBT(H HIWIFFEOTR Fnll CTGTAICISIBTE0 BFH LDSHFFTTUMBM
STMF BB (PUOHDBSH. SSHSHTEDID FnBBIS6Tled SHFFTTUBB SIFs UBMIw
B([hSSIH6l60 CUTHSSHIBBSI 61517

a. IDHFFLOHGHIOID QUPHISLILIL (HET6NSI

b. fipuretenoulenier LewLIM’ G uMybUNWID UTSISTSSIILL [HeTeng

C. HEWILTMID QUHBLILIL L G

d. 915681 fev BHSBHISHET BT Q6T EENBUITEIENIOSE 61HTTISH

e. allewL  OFflwealedensv

87. Which one of the following is not a palaeolithic site?

a. Salem b. Madurai c. Vallam

d. Pallavaram e. Answer not known
SsGBIUUILLILGUMBBEL UMW SBEHTEVHSH0 auITdh @L D 617
a. Ggeuld b. wgieny C. QUGLGVLD
d. usvevmeurLd e. allewL Oz fuiailsdenev

88. Match the discovery with their corresponding period.
A. Discovery of iron 1. Mesolithic
B. Discovery of Bronze 2. Neolithic
C. Beginning of agriculture 3. Indus civilization
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D. Discovery of fire 4. Aryans
A B C D

a. 4 3 2 1

b. 3 2 1 4

C. 2 3 4 1

d 1 2 3 4

e Answer not known

&6 OBTBHBLILL (HeiTerm HewIBLIYLILIEM6NT DIHIL 51 GFHTLTLemL W HTevHEHT(H
QUIT(HSHHISH.

A. ®mibLler SewtBLIQlIL]

B. Geuenisevddlent sHemtBLNGLIL]
C. alougmughgen Hioudbasid

@& BMEBTEVLD
&S SBSTeVLD
Fbg Fo6leueliiesiLm®

il

D. guler sewbLigliL WITH6I
A B C D

a. 4 3 2 1

b. 3 2 1 4

C. 2 3 4 1

d 1 2 3 4

e alenL g flwalsvenev

The amendment act related to the word “socialist’ in the preambleof the
constitution of India is

a. 24t Amendment Act b. 28th Amendment Act

c. 42rd Amendment Act d. 44th Amendment Act

e. Answer not known

@b yFuweoenoliiesr (paaemyuleieren ‘Camdluiederdl’ 6I6im  6uMTdHemHU L 6dT
CaTLYemL W SFFluied FTFadh H(hHHF FLLID

a.24 eugl SPFwed FTFaH H(HHHF FLLID

b. 28 aug opdwed grged HEHESSHF FULID

C. 42 augl oPlwed FTFad HHHHF FLLID

d. 4 eum opfwed gFreed HEHESSHF FLLID

e. allew  OFfluwealedensv

Match correctly the Battles with their corresponding year.
a. First battle of Panipat 1. 1527

b. Battle of Ghaghra 2. 1529
c. Second battle of Panipat 3. 1526
d. Battle of Khanwa 4. 1556

A B C D
a. 1 2 3 4
b. 4 2 1 3
C. 4 1 2 3
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d. 3 1 2
e. Answer not known

BB OBTHHBLILIL (Heiten CUTTHMeT Sieh6l

A. (pHe0 umefiu Gumi
B. a&méym Gumir

C. ®yewiLmeugl uUmeoniu  Gurir

D. smesteur Guimit

A B C
a. 1 2 3
b. 4 2 1
C. 4 1 2
d 3 1 2

e. allewL  Oxflwealedensv

91.
a. Kumaragupta -I

c. Chandragupta Vikramadhitya

e. Answer not known

APPE> L0
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CHENNAI

4

BLbS 6UBLHCHTH CLT(HSHSHIS.

1. 1527
2. 1529
3. 1526
4. 1556

D

4

3

3

4

Who among the following rulers was called Kaviraja?

b. Chandragupta -I
d. Samudragupta

LNeiTau(HD S FlwimenTaeiled WmT ‘Salymegm’  6TeimentpeSLILIL L TT?

a. (PSHEOMD  GLOMTGSLISIT

C. FHATSLIS NSFLOTS SHSHUWIT

e. allewL  OFflwaisbenso

b. (1ipge0md FhHFESIHT
d. 508G LIS

92. Which is the correct chronology of the excavation sites in the Indus
civilization?
1. Mohenjo - Daro 2. Chanhudaro
3. Harappa 4. Lothal
a.3,1,24 b.1,3,2,4 c.2,134
d.3,4,2,1 e. Answer not known
Ffbxk  preafsdbdHed  SsbaumymuiFd  QFwwiul L @Lmisefler  gflwme
FTevalflend 61gH!?
1. Qwrasehs STCIT 2. FeirameHTEyT
3. amylium 4. GeomsHsHTev
a. 3,124 b.1,3,2,4 c.2,134
d.3,4,2,1 e. el Oxfuwialsvenev
93. The institution of ombudsman was first created in
a. India b. Finland c. Sweden
d. Norway e. Answer not known
SLDLL 6rOBLDGIT GTETEILD DIGWLDLIENLI (LpFHeVled 2 (Haumddlul BTH
a. ®bHwr b. testeonhgl C. FaiL 6T
d. mriGeu e. allewL Oz fwialsdenev
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94. Which of the following is not the requirement to be appointed as a judge of

95.

96.

the Supreme Court?

i. Should be a Citizen of India

ii. Should have worked as a judge for 5 years in one or more High Courts
in succession

iii. Should have worked as an advocate for 15 years in one or more High
Courts in succession

a.ionly b.iand ii only c.ii only

d. iii only e. Answer not known

SlpaUHeUTUBBIET 6%/ eTened  © _FFHAIDMB  HHUHWTEHS  CHeveuwBmsl/
CxmemeuwiBmeneu?

1. @hHWS GYLEHTES B(HHH60

il. Qe SeLevd DSBS CuoBulL o wWikhg weaBhisellsd OHTLIHSH MbHIA
LT (BH6NT HAHUSHWTHI Uewlwmm &HEHHe0

ill. QAW SeLevg SIFBG GCUoBULL o WIHEH ARSI OHTLIHEH 15
DLEIBE6IT 6uPSSNBEhITE B([HHH6V

a. 1wl G b. i @b i eudluier wL GBI C. ii oL (BID

d. iii ot Gid e. allewL  Gsfuwailstenev

Articles from 264 to 300 A are in part of the Indian Constitution.
a. IX b. X c. XI d. XII e. Answer not known
@b gl alg 264 wWwHev 300 A saumy LG 60 SILMRIGLD.
a. IX b. X c. XI d. XII e. alenL  Gafuialsvensv

Given below are the High Courts and their year of establishment. Identify
the wrongly matched pair.

High Court Year of establishment
a. Madras - 1862
b. Karnataka - 1884
c. Allahabad - 1954
d. Kerala - 1958

e. Answer not known
&Gyp, © WIMHEIDESTBHIG6IT LOBBILD Slna BsieuI L 1,60 (HSH6IT
CamheaLIUL(heTerer. SHaupTer Senenien! CHTHOH M.

® WIMHSHILDETBLD 1T VW MCRE ) (G
a. LSHJTerv - 1862
b. &prLasT - 1884
C. SIGLAMTLITS - 1954
d. Gasyenm - 1958

e. alowL.  OFMwalsdensy
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Which of the following statements are correct about the Rajya Sabha?
i. It is a permanent body

ii. At the end of every second year one - third members retired.

iii. This shows the unstable nature of the house.

a.ionly b.iand ii only c.ii and iii only

d. iii only e. Answer not known

oTHlevmiseTenal LUBBlwl Leieumd OFmBOmTL THefe0 elemeu Fhuwimerenel?

i 88 @ BIbsITear Sieney.

ii. eelleuT(h EJeHILTD SLENgeT (WgaleVd c&IBled @ UmG o miliielTasel
QUIe| OILIMISTM6TT.

iii. Qmey Qb Simeuulerl HleneOWBB HETEWLOMWDH GBI HHBSI.

a.i wlEw b.i Bmib i @luwier L G
C.ii o@BmID iii Spdluler L (BLD d.iii o Bb

e. allewL  OFfwealedensv

Which of the following reflects the social ideology of the directive
principles of state policy?

a. Organising village panchayats

b. Encouraging cottage industries

c. Providing adequate means of livelihood

d. Protection of monuments

e. Answer not known

Ueteumd s auflasm B opsiipemss Camur@seled Fupssd FhHemnetenulll
Lrgluediiugl e1g)?

a. SIMOL LIghFTUISHSHIHMETT  [HM3I6)]FH60

b.gymssdh CFHTOBFTENEOHMEN 261 @015 H60

C. QUTDAUTHTTHHMBBT6 UL (LpenBHmeT CUTHIOTET DI6Te]  GULDHIG)H60D

d. plenereys HeeImisemerl LITHISTEHH60

e. allewL  OFflwealedensv

“No person shall be deprived of his life and personal liberty except
according to procedure established by law”. Which article of the Indian
constitution says like this?

a. Article 20 b. Article 21 c. Article 22

d. Article 23 e. Answer not known

‘ureurgdl 2 ulGgm, o Levgnt o fleww@Gur  FLLLD  elHSHHMDSHSHI66NT
CmEpSipenpriLy  Sies, Geuml eelauemBUIID LBIGSILUBHEO LBTH. EMIGIGID
&HDID @hHW SIFFLL alg 6157

a. alg 20 b. alg 21 c. ailg 22

d. elg 23 e. allenL  Gafuwiealsvensy

The text of the preamble of Indian constitution resembles which of the
following constitutions?
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a. Constitution of France b. Constitution of USA

c. Constitution of Germany d. Constitution of Ireland

e. Answer not known

SEHHWIL  61hH BTLH DTFWevmLILL 6T DbHUI  DIFFUI0IOLIN6ET  (LPSH6 D]
QuEBL UGS @HHleTeng?

a. NOyeha SIFFMIDLIL] b. &GofNEs Seambiy  C. GTDal SIFFeLOLIL|
d. suiteonbgl opFmoiiy €. el G fuwalevemen
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